ABART (ZRZ2Y) SERESIRR

KESRRRONBERIC, ZENECDTRMEHOETT. ZOLHABEFLEIDEICDONTREEDEELCHNMNDSFTBULIAH LTI S,
XEMROESSFHEXDTEDTNTIN REROEARZOBESRE, FERENRBRRE TRIANTERARNMER T DBENDHOET,
X1 1 BMECHSRRBBEND 2RI SANFE CAMUCEER. BFEEOSBAEIC MNMUEBRRESENFEIR] U TORNE>RITSNEEA.

TR - KEX AR - pUBRE - IEER - BE - IR S ABR
O = ZEEHD A = BFBOEEHD =H = ZEEULU
RBM 8 TSR FHn O 1% 2% 3% 4% 5%
BRIRE 91 1108~ A A
TEEIRER 120 EEMRERIT~
R BER 75 11 DE~ A
n | ABREM 120 ERBAIT ~
Y |EHREM 110 11 DE~ A @) A A A
RUEREREHN 104 11 DE~ A O A
WEREPR 68 1P~ A A
INBEIREPR 70 1P~ A A A A
CODURER 90 BEMRERIT~ A A
HORBFSEER 90 EEIRBRIT~ O A A
SRER 60 EREEIT~ A A
BULBHDIFSIRER 120 EEIRBE I~ O A A A
NUEREE 60 618~ A A A
[TODHRER 30 15~ A A
BRH DILTRBE 90 EEIRBAIT ~ (@) A A
ROBZHEDIRER 60 3nA~
R | pz<aran 60 | mnwo~ A A
75 ROFREE 60 3nB~
U3EERER 90 EEMRERIT~ A
RREBAENDEBNRDOR D5 60 ERERIT~ A A A
BTLORRER 90 EEMRERIT ~
TBEROYREE 75 3nB~ A
FvAILRROITPRWLE 109 EEMRERIT ~ (@) A (@)
RUTRIRER 90 EIRBEIT~ @) @} A
Fv IV ERD T PRILEE 90 BERBRI~ A A
ASZ5\BRER 90 ERERIT~ A @)
[TOEIRECEER 60 6nA~
2 rusarnmEC L tE 90 | ans~ A
= |FRoLaBECEEE 115 | EweEo~ A
NDERCEEE 90 EMRERIT~ A A
REEITOTRECEER 90 FERBRIT ~ (@)
IIFLARER 19 |EHEEI~25% A
HOITRERE 14 |EAREEI~2% A A
KDOEDH S5 19  |EAEEI~2% A A
g COSERER 18 BDA~2#H A N
}:;% DHLEREE 18 |EHBE~2% A
g ZF A Fy RSOFIREE 19 |EHEEI~25% O
§ BRUODDIRER 19 |[11pB~2% A A A
HESRPAZMERER 18 11D8~25% A
JF v 2201 AEIRBEE 10 |EHeEI~25% A
REICCOFF—FU—)L—A 19 |E/RSBI~2#% A




